15 B DR Bh £ 12 b I - R 95 T 1R

20204E 11H1B"11H7H ® 10 A
SRS
AT Al THE LI R
B | iw | i [ wiE | e | owiE | b | ek | e | doRE | sk | e ez AR Aper PR
BN | WENHC BETHL | BT | REAKC | RDTHL | vicket | ticket | ticket | ticket | ticket [ prpo | mae | hit | ek | mass | it | e | mas | oni | e | M| it
AR | 9% 39 38 100% 11 11 1 0 0 3 10 1 1 2 0 0 0 0 0 0 1 0 1
A— | 9% | 113 109 95% 19 18 7 1 0 1 20 2 4 6 1 1 2 0 2 2 0 3 3
A= | 94% [ 132 124 96% 24 23 3 0 2 2 20 0 0 0 1 0 1 0 0 0 1 0 1
A= ot | 114 111 | 100% 7 7 2 1 0 4 23 0 0 0 0 0 0 0 0 0 2 0 2
Al | 97% 140 136 94% 17 16 5 0 0 2 12 1 2 3 0 0 0 0 0 0 2 1 3
A | 96% 99 95 95% 19 18 5 0 1 6 10 1 2 3 0 0 0 1 0 1 0 0 0
AN | 92% 53 49 100% 7 7 4 0 0 2 6 0 0 0 1 0 1 0 0 0 2 3 5
& | 96% | 690 662 96% 104 100 27 2 3 20 101 5 9 14 3 1 4 1 2 3 8 7 15
LR B HLIERE AR EERIT N RIS | 36% 75% 33% 53%
=R HTicket# 153 ERv—
P KGRI | 48% ~100% 0% 25%
G 96% 794 762 ‘ — — —
PEVIN TILX 36 PRy EDaRe (] 49% PESS)¢ B -7%
miE AR | e | 2aossw | wgswerrsna | 1o aow [ iR s| 16 e | Netrnmasms | 1520w | wiavksms | 8210 | st [ 556w [ Emain | assn | mmwmasg | 200
REHIEFR
%% IENEE] o | mmmx | oo |mem|[ 2 | a0v | sem | ov Jerm| 1 [ oon | mewex 2 | o
i —% (5&) ¥l L L B icdic HRIERIX £
11/1 AH
11/2 J&—
09:00-11:00 HAZHALIAIR TR
11/3 A= FARIE W 2% R T, B AT e L e A
W2 R IR
11/4 H=
08:00°09: 10 INHTRAAOPKDCIE. | 12:02-13:36 RILBRIFEIX 4%
11/5 %IE 4&11&%%'@5&}#%7E%ﬂ5*§%9@& ,Z%%E%EPM"E’ féjé%ﬁ"%ﬁﬂ%’ﬁ)ﬁlm
(el 9 4% b, P S L S R R TE e oA
> SR IEH .
11/6 M H

11/7 AN

9:00-20:00 PRYGLEA HaAE Bl 2= 4t
b e WS R e s v i)
182 el W9 2% 7 [v) 2 B, 5 BB S
W25 IR

00:12-01:11
DX B
SR IEH

KIBRHFIL X 2 AL
ZIBEWRRMEREMN




ARG ER

20204F 11H1H"1147H ® 10 A
110% BIFE | 160 AL | 160 T
— 140 /\ 140
W 120 ,’/\Y 120 ,/A\/
90% 100 / \ 100 / \\
80% 80 / \ 80 / \
0% 60 N 60 N
40 —J 40 -
60%
20 -?ﬁ 20 -?v\i.
50% T T T T T T 1 0 T T T T T T 1 0 T T T T T T 1
FH  HA— RA= HE= &N AL &N HAH  H— H= H= &N K&A#x X AH H— RA= HA= HN &AL HN
—— AR A TR O RRIEAM = R, | —o— R —— AR |
25 3 REMHEH

20

15

10

0 —Ir——7—

AR A— F= RFE= AN AL JEAs
=t i 15 |52 = 7R [ Jeks I
e TRIFAZ X e [ 125

_—rﬁ—|—|—0 S
A= RA=

1L E T VA

—— R[] = A Bl *Bk@ﬁ@l

2
| I [ ]
0 1

LSS
LE R

KAfEEIL
B RGR BEERNAZE w R
= bR BRIEAZIX




